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SSC PART-ll (10th CLASS)

BIOLOGY  GROUP- by - g2/ BN
TIME ALLOWED: 15 Minutes OBJECTIVE u",/;p o 15 = &h
MAXIMUM MARKS: 12 M7 -G1-23 12= AF
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Note: you have four choices for each objective type question as A, B, C and D. The choice -Q).:'J}fgcam’
which you think is correct, fill that bubble in front of that question number, on bubble sheet. Use marker or pen
to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. No credit will be
awarded in case BUBBLES are not filled. Do not solve questions on this sheet of OBJECTIVE PAPER.

Q.No.1 A A

(1) In aerobic respiration ______is used. ‘ -./T--Bndb-z‘iuﬁcﬁ ok st (1)
(A) Nitrogen s/t (B) Oxygen f( i (C) Hydrogen (/s.4¢, (D) Carbon /¢

(2) Which organ is protected by last two ribs in man? m&/_-,sevJqubg/,”u;'wa )
(A) Stomach s (B) Heart s (C) Liver £ (D) Kidney 2./

(3) Which separates middle ear from the inner ear? ?:‘.J/Zﬁufc,w&umfu(&w 3)
{(A) Oval window $ /‘{ RT3 (B) Malleus u‘:lf (C) Incus Jq (D) Stapes J%’/

(4) Babies are born with about soft bones. kb Lol (4)
(A) 300 (B) 310 (C) 320 (D) 330

(5) Yeast reproduces asexually by: _:.gjéc‘i.énﬂ;{wd;gguf o (5)
(A) Binary fission u” d/(, (B) Fragmentation ;&4 (C) Budding s % (D) Spore formation ti.s”

(6) Inside testes, where sperms are produced? S Mgl £ (6)
(A) Vas deferens uj).!:‘u‘b {B) Sperm duct .b”}(/,f
(C) Collecting ducts 3B (D) Seminiferous tubules A< K~

(7) When James Watson and Francis Crick proposed S S UsK=30 DNA LJ[JJ‘!/'MJL £ (7

the structure of DNA model?

(A) U~ #1950 AD (B) U~ -1953 AD (C) U~ 1956 AD (D) & #1959 AD
(8) In artificial selection, the bred animals are known as: Y S N S S W COT NS 1201 Lo ()
(A) Breeds Ji (B) Vector 2 (C) Cultivars )A:u’r (D) Herbivores Juss{ s

(9) Which one of the following is the abiotic component of the ecosystem? ?‘c.l/u:‘;?...ff LG’K(L/ % e S5l 9)

(A) Producers g5y (B) Herbivores de s (C)Water Gg (D) Carnivores jm[}z(

(10) Which one of the following plant is parasite? - St Uabgode Sdits  (10)
(A) Pitcher plant «°i /f: (B) Sundew /i (C) Venus flytrap %/‘J!ﬁu‘;’ (D) Cuscuta E;;‘/

(11) When was the complete map of human genomé published? ?métﬁ_/,‘ﬁuj Krr'.fiuu" (11)
(A) U~ #2000 AD (B) X £2002 AD (C) ~ #2004 AD (D) -~ 2006 AD

(12) Which one of the following is not an addictive drug? ?q_u.’.{.'»uwugdufa—uﬁdibn (12)
(A) Sedatives % i~ (B) Morphine Uézl (C) Codeine c)_‘?f (D) Tetracycline d‘“fw‘/i
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NOTE: Write same question number RPN TR r.f?g‘,g LJ:/??AVUM};{QKGL? Y

and its part number on answer book, as given in the question paper.

SECTION-l Lo
2. Attempt any five parts. 10=2x5
(i) What is meant by gaseous exchange?
(ii) Describe the function of nasal cavity.
(i)  What is meant by double pneumonia?
(iv)  What is meant by Thermoregulation?
v) Describe the causes of kidney stones.
(viy  What are co-ordinators?
(vii)  What is meant by nodes of ranvier?
{(viii) Describe the functions of spinal cord.
3. Attempt any five parts. 10=2x5
(i) Define Osteocytes.
(i) Define Joint. Write names of its major types.
(iiiy  Define binary fission and give one example.
(iv)  Define cloning.
(v) Define homozygous and heterozygous genotype.
(vi)  Define transcription.
(viiy  Write down the names of nitrogenous bases of DNA,
(vii) Define Mendel's Law of Segregation.
4. Attempt any five parts. 10=2x5
® Define ecosystem.
(ii) What is meant by pyramid of numbers?
(i)  What is meant by assimilation in nitrogen cycle?
(iv)  Why should we reduce the use of natural resources?
(v)  Write uses of glycerol.
(vi)y  Write definition of fermentation with reference to biotechnology.

(viii  What is meant by medicinal drug?

(viii) What are broad spectrum and narrow spectrum antibiotics? 1+1
SECTION-Il fs.e
NOTE: Attempt any two questions. 18=9x2
5.(A) Describe the osmoregulatory function of kidney. 5
(B) Whatis Cartilage? Describe its three types. 1+3=4
6.(A) Write a complete note on forebrain. 5
(B) Write a complete note on budding. 4
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Note: you have four choices for each objective type question as A, B, C and D. The choice -¢)3J'}5;.~.,ufr
which you think is correct, fill that bubble in front of that question number, on bubble sheet. Use marker or pen
to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. No credit will be
awarded in case BUBBLES are not filled. Do not solv? questions on this sheet of OBJECTIVE PAPER.

Q.No.1 A A
(1) How many hydrogen bonds are present between adenine ?ujz"_nif&(fu&‘&Zu.lgwﬁufél;n‘wf $& (1)
and thyming?

@//2e ® 3 (©) 4 © 5

-(2) Allele which is not expressed is called: | ‘ -§-l'fllzf ‘muiité"'%ﬁdf' @
(A) Dominant wiiise sl (B) Gene ¥ @é:essive e e, (D) Locus Y

(3) Lionis: —4"—2 (3)
(A) Herbivore Jm,} e (%rnivore w(}z( (C) Omnivore (S (D) Decomposer /J:;‘/d 3

'(4) Al are carnivore plants except: ‘ -:z.wgugwé%q (4)

: (A) Sun dew ¢3¢/ (B) Pitcher plant w4 /5' (C) Venus fly trap ?C)JLGJ:": () Cuscuta e{f/

‘ (5) When did lan Wilmut produced the sheep Dolly? slle PS5 a bt (5)
J~ #1997 AD (B) % +1987 AD (C) U=~ #2002 AD (D) -~ #1970 AD ‘

(6)> Antibiotics are used to kill: ' ~ydndetd L s JEGE @)
(A) Virus (71s @ctaria { )é (C) Alga &i (D) Protoioan c)u‘i':;

{7) How many pairs of ribs a human body has? : ?ugg}i.i/éu;:uwwlf)‘(’}w )
(Ay2 ¢ (8) 10 ©) 5 12

(8) Percentage of water in human urine is: _g./uiwégf &g uf.,&%:.f}ul (8)
(A) 70% (B) 75% (C) 90% (3/95%

(9) The smagllest bone in human body is: -4—-6%&3}%’4—*/05("’(39’ )
M) stapes ¥ B)Malleus ¥ (©)incus (D) Thigh bone S

{10) Cells of cartilage are called: -q;é'_!k{)fﬁ@l.g S (10)
(A) Collagen aulsS — (M Chondrocytes U*Ls.k6  (C) Osteocytes U*lsis (D) Tendon wi

(11) Vegetative propagation occur in Bryophylium by: ?:‘_Bm‘j_ﬁéu/ w’igﬁ{ }.ﬁ‘f}'uﬁ (‘G,fu (11)
(A) Root .7 (’Bétem = (C) Leaves < U#% (D)Seed &

(12) Whose part is style? S‘q.,a?ﬁ/’ S (12)

(A) Sepal & (B) Petal % () Stamen &~ “WfCarpel L ¥
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NOTE: Write same question number -4.LJ:¢;,{.JIV.G’5£ LJ:/:?A’/U’M:{Q(GV -
and its part number on answer book, as given in the question paper.
SECTION-I (Jie

2. Attempt any five parts. 10=2x5
(i{ What is double pneumonia? Write the name of its causal bacteria.
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(i) Define Lenticels.
(iiy”
(v  What are Hydrophytes plants? Give example.

Write the effects of smoking on teeth.

(@  Write the causes of kidney stone.

(viy  Define feedback mechanism. s

(vif What is Hippocampus? Write its importance. -u:"qyﬂ!Jw ?.T_qu'.:‘-lg;z (vii)
(v#f) What is the difference between Rods and Cones? S PP 2 st 33 (vill)
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10=2x5

What is the difference between compact bone and spongy bone?

3. Attempt any five parts.
9/
@y Define joint and write name of its types.

(i

(iv)  Define calyx.

Define binary fission and give an example.

(v) Whatis genotype? Write down its types.

(e~ Write down names of nitrogen bases.
(wr Define homologous chromosomes. -Q/ - /."Jfrr‘;fuf’rn (vii)
(vii) Define gene. _g{/h.g'{/‘.;(;‘;ﬁg {viii)

10=2x5
(1) Name the different levels of ecological organization.

(j.) What are herbivores?

-g{(ia&b‘!&lzléga—éf -4/."’;)':"
_#H/_o@:d&&gﬁ'f@c7ﬁ:’£' i
urimds (i)

4. Attempt any five parts.

(i~ Define commensalism. E ks i)

(iv)  What is meant by ecological pyramid? ?‘g_ﬂfy’c_il}kg){ﬁ:’;f I (iv)

(W~ Give an example how biotechnology is helping S@.G)Lg’_ﬁdil. HUASE /":.‘f.lu@ffé::dﬁwﬁ v)
for better envircnment?

(AT~ Name the breaking enzyme and joining enzyme. _4%5,("! '/'.'JLBL/‘:ZM("’ w2 K (vi)

o What is pharmacology? ‘.‘g,l[d;‘ﬂ/b' (vii)

(viii)y Differentiate between broad-spectrum antibiotics and ,g{J/'u:u—@f l,d;"l(/'%/i 23! (f'gf?l/. (viii)

narrow-spectrum antibiotics.

SECTION-Il g1

NOTE: Attempt any two questions. 18=9x2 -g,{;/.:,u_eéammaéf -2
,((A) Explain the steps involved in formation of urine in the kidneys. 2+2+1 -q/uyg,‘}:“’ J’I/Lé._vlﬁ_;ufu»f (N5

(B) Explain antagonism in muscle action 4 -qu.wl,’o:gfrif C’:U.’J" v Lf.r';".de B 2B (ol
selecting biceps and triceps as example.

/((A) Write a detailed note on Reflex action. 5 46..«!&“) ikl /wf ,‘fﬂﬂ- (N-6
(B) Explain the process of gametes formation in animals. 4 :{JL:;JJ!L&J“&‘ Ut (&)
7.(A) Describe any five achievements of genetic engineering.  1x5 SIS 6Lc:,df£..f G (N7
(B) Describe the resistance in bacteria against antibiotics. 4 -g/ugay;,wu"l.‘f&w' AL 28 ()
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